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Question 1. Start on a new page

i nifican f 3(5.21+4.71
1 t t : P
a) Evaluate correct to two significant figures 3.94%1.76

2
b) Factorise fully : 10x +2xy -10y -2y* 2
¢) Simplify : 2¢3 — 27 ++/48 2
d) Expand and simplify; (x-3)(x* + 5x -1) 2
&) Iff{x) =9 -2x% find the value of (-1) 1
Question 2. Start on a new page
Rationalise the d inator ; > 2
a) tionalise the denominator : i
1
b) If T =2 J:
g
i) Find the value of T, if | =80and g =9.8 1
ii) Make g the subject of the formula 2
Solve for x: —=—2 =0
¢) Solve forx: w1 3 3
d) Express 0.142 as a fraction in its simplest terms. 1
Question 3.  Start on a new page
a} Faciorise completely
i 8x*-1 2
ii) (2a-b+cf— (a+5b—c) 2
b) Find the domain and the range of ¥ = P 2
¢) Evaluate sin60° + tan®30° . Leave your answer in exact form. 2
———————————
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Question 4.  Start on a new page Question 7. Start on a new page

a) Solve x? whenx = 2
i Ix+y=4 a) If f(x) = {Sx when0<x <2 |,
2 Hly =1 3 -3 when x <0
i X 16=0 a sketch the graph of f(x) for-3<x <5
1—8x b) Find all possible values of A if 2 sind = cosdand 0° < 4 < 360°
i 5 <9 3 ¢) Solve 9x2 + 6x — 4 = 0 by completing the square. Leave the answer in exact form 3

b) Find the value of a’b? in the index form if @ = (%)Sand b= (1;)2, expressing your

. xcy
answer in the form of 2°5 2 Question 8.  Start on a new page
) Simplify —=— + —= 2
c —_— s
P T T a) Three points A,B and C lie on a horizontal ground. From B the bearing of A

is 047°T and the bearing of C is 081°T. From A the bearing of C is 149°T. The
distance between A and B is 10km.

R i Draw a diagram and mark all the information given above.
Question 5. Start on a new page
ii. Find the distance from A to C.
a) Sketch the following and show the important features. Write down the domain b} If y=f{x) is an odd function, copy and complete the graph below 9
and range of each function.
i y=xl-x-6 3 Y
i, y=x3y 3
b) Solve |2x + 1| < 7 and graph the solution on a number line 3
Question 6.  Start on a new page
3 2 © *
L 4
B Simplily ot ea T 3
b) Solve |5x-1|=3x+3 3
¢) Find the area of the shaded region correct to two decimal places: 3 Question 9.  Start on a new page
a) Find a value of B if cosp = sin 43°50° 2
. x+3 , 2
ve b) i Show that oy is 1+ ey v
. ii. Hence or otherwise sketch the graph of y = ;i_;-I showing any intercepts
and asymptotes 3
x3-3x%+4+1 N
— i, If f (x) = W’ prove that f (;) =f(1—-x) wherex #0,1 3

END OF EXAMINATION
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